Algebra 1: 5.1

Simple & Compound Interest

Name

Date Period

Find the total amount using the simple interest formula. A = P + P rt

1) $1,900 at 15% for 2 years
P=1900
r= 0,15

t=a

A= 1900+ 1900 (0.15) &
A =1900 t+ S70

A= 22470

3) $280 at 12% for 9 years
P=2%0
= ol
i
Az 290 + ag0 (0.13) T
A- %O + B0R.H4

A=%5%2.406

5) $1,500 at 8% for 6 years

P= 1500
r=00%
t= 6
A - 1500 + 1800(0.08) 6

A= 15006 + 730
Az BrRO

2) $20,800 at 9% for 5 years
P = 20800
Vat= 0.0?
55 &
A= 20500 + 20800 (0.09)5
L= 20900 + 9200

A = 30160

4) $3,000 at 7% for 3 years
= 3000
=00
t=3

A= 3000 + 3000 (0.07)3
A= 3000 + &30
A-l5¢ 20

6) $1,640 at 1% for 4 years

P- 140

o= Opal

L4

A= 1040+ 1640 (©.01)4
A=1640 + 63 6

A= %705, 60



€
Find the total amount using the compound interest formula. A = )0 ( fdia )

7) $1,360 at 11% compounded
annually for 5 years

A= 1260
r=0.I1
t=5

5
JARE /3&0(/1«—0,10
A= ZRaq-ek

9) $51,000 at 3% compounded
annually for 2 years

P- 51000
r=.0, 03

L=l
A = 5/()(50(/+0,0.5)'Z
A=z 254/05.90

11) $10,000 at 11% compounded
annually for 2 years

p: [ OOOO
[AE (O]
=2

A = 10000 (1 + 9. 1=

A: £/12321

8) $6,900 at 15% compounded
annually for 5 years

P= &£900
r:O,l5
+t=5

5
A:(QC/OO(H'O-/é)
A= ¥1387%. 36

10) $22,300 at 9% compounded
annually for 3 years

Pz 22300
A @)
t=23

A=22300(1+ 0.09)

A=-%2%8%79.(5

12) $450 at 10% compounded
annually for 2 years

P= 450

F=0.10
Lt

o2
A-d4s0(i+0.10)
A= 544,50



